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Problem quickname: 2915
b

Calculate the area T of this triangle. Do this by drawing one of the heights at your
choice and measure its length along with the length of the corresponding side.

Quick:
2915

a) Area:
a-hg/2=138-4/2 =276
b-hy/2=9-6.1/2=275
c-he/2=T7-79/2=27.7

b) Area:
a-he/2=52-23/2=6
b-hy/2=3-4/2=6
c-he/2=4-3/2=6
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) Quick:
2915

Calculate the area T of this triangle. Do this by drawing one of the heights at your
choice and measure its length along with the length of the corresponding side.

a) Area: B
a-hy/2=9.8-3.7/2=18.1
b-hy/2=4-9/2 =18
c-hef2=9-4/2 =18

b) Area:
a-hg/2=94-58/2=273
b-hy/2=28-6.8/2=27.2
c-he/2="T7-78/2=273
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3) Quick:
2915

Calculate the area T of this triangle. Do this by drawing one of the heights at your
choice and measure its length along with the length of the corresponding side.

a) Area: B
a-he/2=285-26/2=11.1
b-hy/2=6-3.6/2=10.8
c-he/2=4-54/2=10.8
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b) Area:
a-he/2=4.7-4/2=9.4
b-hy/2=4-47/2=94
c-he/2=6-32/2=096

4)

2 Quick:
2915

Calculate the area T of this triangle. Do this by drawing one of the heights at your

choice and measure its length along with the length of the corresponding side.

a) Area: B
a-hy/2=6-29/2=287
b-hy/2=3-58/2=8.7
c-he/2=6-29/2=8.7 a

b) Area:
a-hg/2=9.1-29/2=132
b-hy/2=4-6.6/2=13.2
c-he/2="7-38/2=133
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B

Good Luck!
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